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BACHELOR'S DEGREE PROGRAMME 
(BDP PHILOSOPHY) 

Term-End Examination 00888 
December, 2013 

ELECTIVE COURSE : PHILOSOPHY 

BPY-010 : EPISTEMOLOGY 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) Answer all five questions. 
(ii) All questions carry equal marks. 
(iii) Answers to question No. 1 and 2 should be in about 

400 words each. 

1. Discuss the metaphysical method of Thomas 20 
Acquinas. 

OR 

Explain the constructivest and ecological 20 
approach to perception 

2. How does Kant arrive at the synthetic a priori 20 
judgement ? Discuss. 

OR 
Explain the differences between Rationalist and 20 
empiricist theory of knowledge and highlight their 

inadequacies. 
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3. 	Answer any two of the following in about 
200 words each : 
(a) Explain knowledge. How does belief 

become knowledge ? 
(b) How do Impressions and Ideas correspond 

to each other in Hume's philosophy ? 
(c) Define Inference. Explain the two kinds of 

Inference. 
(d) Discuss the characteristic traits of the 

Frankfurt school. 

	

4. 	Answer any four of the following in about 
150 words each : 
(a) Examine the concept of sabda in the Nyaya 

system. 
(b) Describe semantic theory of truth. 
(c) Briefly explain Derrida's critique of the 

subject. 
(d) What is your understanding of cartesian 

doubt ? 
(e) Illustrate coherentism. 
(f) Examine the nature and criteria of truth. 

	

5. 	Write short notes on any five of the following in 
about 100 words each : 
(a) Knowledge as social praxis 
(b) Act and potency 
(c) Neo - pragmatic theory of truth 
(d) Illusory or erroneous perception. 
(e) Upamana. (Analogy) 
(f) Deduction. 
(g) Methodological continuity. 
(h) The knowing subject. 
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(d) TTE mce4kT 

(e) dLI 1-1 1 -i (Analogy) 

(f) r1I 

(g)"c14--#4 

(h) q11 cll Fatiq (knowing subject) 
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